000 RODOOO [,J000,
IsJ={ablaecl, be J}

O,0000,RO00000000.

00. R=2Z[X], I=(X,3), J=(X,2)000.3X,X-2€I+«J000 I«J
0 ROODODOOO

X=3X-X-2elxJ

I = {Xp(X) +3q(X) | p(X),q(X) € Z[X]} = {XF(X) + 3a | F(X) € Z[X],a € Z},
T = [1Xr(X) +25(X) | 7(X), s(X) € Z[X]} = {XG(X) + 2b | G(X) € Z[X],b € Z}

X = (XF(X) + 3a)(XG(X) + 2b) (1)

0000 F(X),G(X)eZX], a,bez00000. (1)00000000000
F(X)G(X)=0. F(X)=0000 (1) 00 X/3=a(XG(X)+2b) €ZX| 00D
00.GX)=0000 (1)00 X/2=bXF(X)+3a) €Z[X|]0ODOODO.

00. R=R[X,Y], I=(X+1,Y), J=(X,Y)OOO. (X+1)Y,YX€lxJ
000 I«JO ROOOOOOOO

Y=(X+1)Y -YX€elxJ

ooo.
I={(X+Dp(X,Y)+Yq(X.,Y) | p(X,Y),q(X,Y) € RIX, Y]}
— {(X +1)a(X) + YF(X,Y) | a(X) € RIX], F(X,Y) € RIX, Y]},
J={Xr(X,Y)+Ys(X,Y) | r(X,Y),s(X,Y) € RIX, Y]}
— [Xb(X) + YG(X,Y) | b(X) € RIX], G(X,Y) € R[X, Y]}
oo
Y = (X + Da(X) + YF(X,Y)) (Xb(X) + YG(X,Y)) 2)

0000 a(X),b(X) €R[X], F(X,Y),G(X,Y)eR[X,Y]0DODOOO. (2)000
0YOOOOOOOOOOO FX,Y)GX,Y)=0. F(X,Y)=0000 (2)00
Y/(X +1) =a(X)(Xb(X)+YG(X,Y) eRX,Y]0ODODOO. G(X,Y)=000
0 (2)00 Y/X =bX)(X +1a(X)+YF(X,Y)) eR[X,Y]OOOODO.
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